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Chapter 2 There are instances where p should be replaced by x:

P.13 Equation above (2.1): the last p should be z, i.e. the equation should read:

Dv|xf:2vld£i(x)
=1

P.16 First sentence of the 4" paragraph down the page, pushforward ¢, maps to 7, o(x)R", L.e. the
first sentence of the paragraph should read: The pushforward of the local coordinate map is
given by: ¢, 1 T M — T R™ ...

P.25 Second paragraph of Definition 2.22 should begin with: For any = € M, the ball of injec-
tivity radius, denoted by B(0,inj(z)) C U, ...

P.14 The three instances of “equivalent class” should be replaced by “equivalence class”.

P.16 The following sentence, the first element of the basis starts at %

Ot (@)

P.17 Definition 2.13: The image of Riemannian metric is R, i.e. the equation should read:

()’ i.e. it should read:

0

’...7%

»(z)

g:T,M x T,M — R
(X7Y) = g(X,Y) = <X7Y>g

P.19 Equation above (2.4): the summation should be from k = 1 to k = n, i.e. the equation should read:

n
Ve k=) B
k=1

P.20 Definition 2.19: Add comma between I and Py, ¢, .

P.21 Add bracket to the top of the last line of the equation after Pt;i, whence the last line should read:

© P (V0%0) Vo A - Vi)

L= Z lim = lim
= t—to t— to t—to t— tO

P.23 Second last line should read: Given a point x € M and a normal neighbourood N, of z, let

{e1(x),...,en(x)}...

P.29 First equation is better understood as a definition:

9pe Of (p(x0]0))
. =————"€cR
{aez} un o0 ©
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P.30 Section 3.2: Remove (countably) from first sentence of the section.

P.118 Equation on the bottom: replace the last two k in last term of the first line by k + 1, i.e. the
equation should read:

(z]¢"T) = Z OhT el 0i,) = Z ontt e p(xl0) + Z Pht el 07)

acAk+1 acAk+1L ae[\kH\AkH
= > B p(zl0 ) + 0 = p(xl¢FtT)
aeNF+T

P.131 In Equation (8.27), replace o’ the subscript of the first summation by «, i.e. the equation should
read:

@k _ —FE, — € ~ —FE,
“ ZaEA (_EOI - 60) Zae/\ _Ea

P.133, 135 The union of the first equation of the proof of Lemma 8.1 and the first equation of the proof
of Theorem 8.1 should start from 0, i.e. the equation should read:

P.135 Since W = M is indexed by AV, the second last line of the final equation of the proof of Theorem
8.1 should read:

sup | F(@)p(l0™)de
acAN JBoCcM=WN

e Readers have remarked that colored images and diagrams were printed in black and white.
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